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SN RS
I FORO NGXHTY A (PLO)(LNITUT/ABHT)
Cel: Mol HE 2 (cte- &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
O0l&¥+Y & == 52,480
|24 200,000& x16H »12& 38,400
a2 200,000& x 16 *23| 6,400
— 3o &G 20,000 x16H *23| x12& 7,680
Obtt& eS| 25,0003 *43H x23| 2,150
10 HAIAHIBEA 2 4,000 5,000 A 1,000
O0|HHH R XA S 2,000,000& *13] 2,000
OZHEALAHZ AKX B4 50003 *200H x23] 2,000
405 XH&tFE S b 95,519 0 95,519
01 ML =EFHSHI 95,519 0 95,519
OFALXY E2 2A 2 5,000,000 * 14! 5,000
O E 7 80,000,000& +1CH 80,000
Oolagzga Telgll 2¢ 1,294,000& = 1CH 1,294
O=A| 2¢ 8,525,000 = 1CH 8,525
O2ES M&I 2¢ 350,000& *2CH 700
H A2 139, 120 120,802 18,318
101 2124 d| 10,975 18,002 NT,027
4 IItHZ2Z2XNSES 10,975 18,002 NT,027
OF AR X 22| 10,975
—J|l22 37,080& 1 x220 8,158
— =X 37,080& x1H x44 1,632
—4UEE = 9,790,000& *1H x12.1% 1,185
201 Bt AH| 128, 145 87,800 40,345
01 AtR2t2|d| 6,425 4,960 1,465
OFANZAZISEFRL 6,425
—dALES 30,000& 105 *12& 3,600
—&E2E HEE2 65,000 *58+ A x53] 1,625
—SekH, & A 40,000& *6I *53] 1,200
02 3522l 121,720 82,840 38,880
O&II3 50,640
— A, AXAHEH, HE29 S
1,750,000& x12& 21,000
—l2s 2,200,000& x12& 26,400
—MEHN=23 250,000& x12& 3,000
—0lge Hlags 20,000& x12& 240
O || 42,880
—ZEAHAS2O, AKX AE 1,307& *4,498.8L 5,880
—=S=8 2% 1,781&%14,037L 25,000
— XS (HAX) 1,781&%3,930L 7,000
— X (HX}) 1,963& *2,547.12L 5,000
OBgs s 3,000




SN RS
I FORO NGXHTY A (PLO)(LNITUT/ABHT)
Cel: Mol HE 2 (cte- &
SA-EH O (BH) - HBAY - B2 Ofl A o4 dd = HRS2
O & 04
- B8 S 2,000,000& 2,000
—==28 BEZ& 1,000,000& *13| 1,000
Ot 2(AHS, 22X 400,0002 *23] 800
OAld EHl S A2l 24,400
— X s 108,330& *12& 1,300
— &3 ANS X2 2H| 2,375,000& *43] 9,500
—NXHEH(KIXAEH, 258, 2=28) 29
2,900,000 2,900
—MEH=SE 10,500,000& x 14! 10,500
— 022 & Hl A2 200,000& 200
XA &9 18,988 51,696 N32,708
101 @121 H| 8,988 0 8,988
04 J12tHZ22XNSE+ 8,988 0 8,988
S22 A2Y FY 0
oJlz23 37,080 x1H x180 6,675
OFxt=¢ 37,080& x 14«36 1,335
O4UiEg = 8,010,000& *x1H x12.2% 978
201 L Bet2HH| 10,000 45,996 A35,996
01 AR 22|l 10,000 11,866 A 1,866
OXMXIHHZH 1,620,000& 14! 1,620
OXNX & =G 50,000 *17H 43| *0.7 2,380
OXNXIAHSI LA 150,000 & 42 Ztx103] 6,000
AtslorRY A= 7,463 7,615 A152
201 dEtEHH| 200 640 AN440
01 AtR2t2|dl 200 200 0
Oolgd8H 227 4 B4
20,000& x55 23] 200
301 LEt8BAZ 7,263 4,575 2,688
04 XIsSLEHHISHLI 7,263 4,575 2,688
OXNsSdEHUd 29| 3,000,000 =11 CH 3,000
OsiESEHE X EY2R2HAMH|
3,500 *5H 3 A x30L 1,575
OXs<8Eil II=4| 112,000& 24 2,688
ADJFXL AlE 22| 47,642 46,405 1,237
101 @1 21| 34,308 12,131 22,177
MU IItHZ2Z2XNSES 34,308 12,131 22,177
OAIJHXl AH| o188 37,080 x10H x53| 1,854
ON=3sJ3ae oF 8,988
=JlE3 37,080 180 *1H 6,675
—F=X=E 37,080& x36L *1H 1,335
—4AUEE = 8,010,000& x12.2% 978
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A FRIE0 AXYE MS(PHH)(ANBIHT/YerHE)
Sl BMots BE e (e @
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ
SEEEEEES EIEER
37,0802 %1023 x43] 1,484
OBt IME ZZHEA o= 2,996
=22 37,0802 %124 +602 2,225
—FRag 37,0802 %124 +12L 445
—4RER 2,670,00021*1%%12. 2% 326
OMBIIHEE s 8,988
-3 37,0802 %12 %1802 6,675
—FRag 37,0802 %124 +362 1,335
R E 8,010,0002 12, 2% 978
ogelrs ogy 9,998
=2 37,0802 x2 +002 6,675
—2ralg) 5, 0002 22 *902 900
=R+ 37,0802 %22 + 182 1,335
—a2ER 8,910, 0002 12, 2% 1,088
201 Lur2 Y| 3, 160 24,200 ~21,040
01 ALR eIt 3, 160 1,400 1,760
OH22E7Y 70,0008 %55 *43] 1,400
OBZSFA 2k 27 30,0002 +215+23] 1,260
OSMHI A28 2 50,0002 204 =53] 500
206 T 2 bl 10,174 10,074 100
01 T2 bl 10,174 10,074 100
OgelrEE REPY 9,674
—2R {,78124%3,526.10 ¢ 6,280
—3zs 1,0632+1,728.98 ¢ 3,394
OZEHTATEZMAH SF0
1,9632%254.71 ¢ 500
AP FOIE X 60,000 59,725 275
201 Yur2 | 20,000 19,725 275
01 ALR 2l 20,000 19,725 275
OARR FYWO XA AXRE  20,000,0008! 20,000
206 T 2 40,000 40,000 0
01 T2 bl 40,000 40,000 0
OARAR FoBY X 40,000,000 40,000
#H2YAYI(2L ) (IEH/IIEH) 49,034 49,710 A676
=AY 49,034 49,710 A676
=M IR 40,864 41,440 A5T76
201 Yut2 bl 5, 184 5,760 A5T76
01 LR 2lt] 5,184 5,760 576
OJl2gREA 5, 184,0002 5, 184
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HE: BHSIAY (2L (IIEHIIE)
crel: Ol =2y R
. _ . (e ~
SA B HRA(SH) - MRAY - B 0] & 08 e HIREY

202 (44l 25,600 25,600 0

01 S LHA bl 4,000 4,000 0
OJI2gfFd 4,000,000 4,000

02 NI 21,600 21,600 0
O M 150,000& 128 » 123 21,600

203 g =&l 10,080 10,080 0

01 JI 22 RFLAY| 6,600 6,600 0
OJI22IHRF48l 550,000& 12 6,600

02 IR =8 480 480 0
OZAINAHRFEH| 40,000 12 480

04 FEN2IHRFLAY| 3,000 3,000 0
ORNMBEYEF=AI 250,000& «12& 3,000

g J=2Z 4 8,170 8,270 A100

201 et A | 8,170 8,270 A 100

01 AR 2t eld| 8,170 8,270 A 100
O &l 50,000& 114 5,700
Oag plaoe 50,0002 * 12§ 472 2,350
o223l 120,000& 120




